[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

-

LARSRARRNRRRRN RRRRERRRL] RAR N LCARE RARRE RALAE RARAN LARAN LALLE AR

2

10

=
2
N

—=— DQM_TT__mkFit-DQM_original
Efficiend —— poM_TT_ mkFit-DQM_updated

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005

Sl .
RN v
et

........ [ X . o S--- Y -

-30 -20 -10 0 10 2 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01

0.005

SO SEUISE A L dFutt S R P e

Sim. PV z (cm)



	Contents
	Page 1


